DSP (Fall 2016} - Quiz
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Figure 1: pote-zero diagram of Y(z}

(A'ZJ 1- What is the region of convergence, ROC, of Y(z}?
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fﬁ} 2- 15 y[n] left sided, right sided, or two sided?
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| f@} 3- What is ROC of X{z)?
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1}2,3 4 ~is x[n] a causal sequence? Justify?
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i‘,@j 5 —draw the pole-zero diagram of H(z), and specify its ROC?
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LTt system with impulse response hn] for a given input x[n]. Assume that y[n] is..
i (2) with the pole-zero diagram:shown in figure 1. The signal x[n] is stable and has the

z-plane




Rui (o) — & sechm

(o &)

?/( 2D k‘ _Z,Lw
( 2-4)( 2

X (2> ko (2-5)
( 2 *'%;)(% -eéj

o ™~
@Gé v Twe CJQO"’\Q;” f/ |
NEONE A H
v4 )5 B L g
=D 59 1 ek shlo), \ /{ zm
- AN
P H <A \h#///

=7 543. (s ‘5‘;2&}
wle




